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+ 39 195~199 228 %+
+x % 257190 ~94 681 xkkxx+
+kkkxkk k% 876 |85~ 89 1502 ¥kkkkkkkkkkxk4
+kkkkkkkkkkkkkkkkkk 2239180 ~84| 2616 kkkkkkkkkkkkkkkkkkkkxd
+xkkkkkkkkkkkkkkkkkkkkkkkkkkk 3392 175 ~79] 4080 kkdkkkdkkkkkdkkkhkkdkkdkkkkdkkhkdkkkkxk
+kkkkkkkkkkkkkkkkkkkkkkkkkkkkkkxk 3886 |70 ~74| 4477 fkkkkkkkkkkkkkkkkkkkkkkkkkkkkkkkk kx4
+kkkkkkkkkkkkkkkkkkkkkkkkkkkkkkkkkkk 4270 |65 ~69| 4467 fkkkkkkkkkkkkkkkkkkkkkkkkkkkkkkkkkkkx4
+kkkkkkkkkkkkkkkkkkkkkkkkkkkk k% 3649 |60 ~64| 3486 kkkkkkkkkkkkkkkkkkkkkkkkkkkkk+
+kkkkkk bk kkkkkk kb kR kR Rk kkkkkkkk % 4333 |55 ~59] 3898 fkkkkkkkkkkkkkkkkkkkkkkkkkkkkk k%4
+kkkkkk bk kkk kb kR kR kkkkkkkkkkkkkkkkkkkk k& 5354 |50 ~ 54| 4907 fkkkkkkkkkkkkkkkkkkkkkkkkkkkkkkkkkkkkkkx+
+hkkkkkk kR kkkkkkkkkkkkkbkbkdkkbhhkkkkkkkkkkkkkk% 6087 |45 ~49| 5508 fkkkkkkkkkkkkkkkkkkkkkkkkkkkkkhkkkkkkkkkkkkkkxd
+kkkkk bk kkkkk bk kR kR kkkkkkkkkkkkkkkkkkk k& 5279 |40~ 44| 4793 kkkkkkkkkkkkkkkkkkhkkkkkkkkkkkkkkkkkkkkx+
+kkkkk kbbb bk kkkkkk kR kR kkkkkkkkkkk 4363 |35 ~39| 3859 fkkkkkkkkkkkkkkkkkkkkkkkkkkkkkkxd
+kkkkkkkkkkkkkkkkkkkkkkkkkkkkkkk 3826 |30 ~34| 3474 fkkkkkkkkkkkkkkkkkkkkkkkkkkx+t
+hkkkkkkkkkkkkkkkkkkkkkkkkkkxk 3445|125 ~29| 3209 kkkkkkkkkkkkkkkkkkkkkkxkkk4
+kkkkkkkkkkkkkkkkkkkkkkkkkkkkkk 3665 120~24| 3348 kkkkkkkkkkkkkkkkkkkkkkkkkkkd
+kkkkkkkkkkkkkkkkkkkkkkkkk 3045 115~19 2886 kkkkkkkkkkkkkkkkkkkkkkk k4
+kkkkkkkkkkkkkkkkkkkkkkk 2846 |10~ 14| 2590 fkkkkkkkkkkkkkkkkk kx4
+kkkkkkkkkkkkkkkkkkkk k% 2673 h~ 9 2587 ¥k kkkkkkkkkkkkk Kk kKX
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